Licken schliessen: 7. Prozentrechnen

Losungen zu den Aufgaben S. 26f

Ubungen:

Nr. |LOsung: Bemerkungen:

7.4 | Gleich sind: A=20% B =25%
A CF C=20% D=16.6. %
B, E E =25% F=20%
D G =6% H =60%
G
H

7.5 |a)25% = 250 %o
b) 66.6.% = 666.7 %o
c) 60% = 600 %o
d) 87.5% = 875 %o
e) 16.67% = 166.7 %o
f) 35% = 350 %o

7.6 |a)¥% b) 17/20
C) 6/5 d) 1/9
e) 4/5 f) 2/3

Elementare Prozentrechnung:

Nr. |LOsung: Bemerkungen:

7.7 |270 Madchen 269.824...

7.8 |3 Uhren pro Stunde sind
Ausschussware.

7.9 169'680 Einwohner

7.10 |Fr. 19’800

7.11 |Fr.4.50
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